1. AEWEY - HWEX

RSEDETE
D 3B HEIHF PR

AER0t D FCES 1
MEORI 2B LT, KD

A=A AN

1 (+5)E=2) @ (—20)Ht20)

A Yoy
S(+B5)HB)2) = (~20)#)(=/20)
=+ (B+2) = - (20t+20)

@ (+2)=6) B (—9E=2)

y ¥ VoY
= (+2)1X-6) = (-9)BI(F2)
= - (6-2) = —(g-2)

KOFHEE LIrX 0,
(1 (+5)LJ(+9) ©Q (— 4U¢7)
(+5)U(:Q) = 4)@( 7))
=‘(Q—5) ' =~ (44+7)
0(%]@'%’-‘3) B (— 52)LJ(+B7>
*0@(—%) - = (- 52)@( -317)
) Orofoz ) = - (52+37)
ROFEZ LinEW,
(1) (+5)—(—9) (2} O=(=8)
=(+5)+ (+a) =0+ (+8)
=+ (BtQq )
@ (—8)—(—3) B5) (—52)—(—37)
= (-8)+ (+3) = (~52)+ (+37)
= = (8- 3) = ~(52-39)
KOFHEE LsX 1,
(L) {=T7)={+5) 2) (+3)—(—6)
=(-7)+ (=5) = (+3)+ (t6)

G (—11)—(—9)
= (—(l)-(- (‘f‘Q)

4 (—13)—(—27)
2 (~13)+ (+27)

g*g%mﬁzn = f‘@ﬂfém K30bQ) . <

PR T A
/0taF0&
’ Em#oii
OB( 5) -

OC}(+6)

®) (—31)(5\53‘;&6)
= (-31)(*)(-ie)

== (31+16)

& TR A

@ (+6)[E2)
= (+6)@¢'§—.’12)
= +(6-2)
® (—4M153)
= (- 40)@(-53)
= -(4n+53)

G ) FII G AR 1A

@ (+6)—(—2)
= (+6)+ (+2)
=+t (6+2)

®) (+47)—(—53)

= (‘fd-r? ) + (+53)
=+ (407+53)

G TR T

B (+24)—(-38)
= (+24)+ (+38)

B (—32)—(+25)
= (—32 ) +t ("25)

Fffsoda > AL 13

k9EQIN (218 LT gt %
B o

gk’ra 07*0 E_J!> %@.‘L‘T( ‘O)ﬁil'#m o<

5%




